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2.1.1 7+=4] =&
ZF=28](Void ration) e = giiif 5 = II;Z
=& (porosity) n= —?:ijg';f‘jﬂ = ﬂ><100(%)
sy X100- 1+V‘14/;SV5= T+ e X100
2.1.2 ZL3}t%(Saturation)
S= IévgxlOO(%)
2.1.3 &2H](Water Content)
w =~ X100(%)
2.1.4 8B]Z=(specific gravity)
Go=To(C) (B RAFY) = Ta A= )
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_Ww Ve vV VS Ve See
Ws ~,Vs Gsevy, Vs GsVs Gs-Vs Gs
SGow=Se

2.1.6 &9 IS




DAA] ©@5HTotal unit weight)
ZSHAAFA W Gs v, t5e * v, B Y, (Gs + Se) _ Gs « v,(1+w)

T EAARS TV 1+e 1+e 1+e

AR &ol DF 4,216 ~ 2.2 t/m’
Vsteel — 7'8t0n/m3 > Yeon'e — 2'5t0n/m3

2712 &% (Dry unit weight: S= 091 G5 )

Gsv, (1+w)
1+e
_Ws G5t Mo G crw
d Vv l1+e Va lI+e b
Yt

= ns =

122 =115,

)23} U & W¥(saturated unit weight; ; S= 191 &£k )

B (Gs+e)y,

Vsat — 14+e

a5 (=75) B E5Z(submerged unit weight: LT FFo|A £5Z W T 5T)

(Gs—1),
Ysat = Vsat — Vwater — 1+e

2.1.7 A2 & (Relative density)

emax— e
D emax— emin 100( A))
= =)= G's%u
Ardfsgoz UH3uls BHSIY, e= ——
Va
G G
( s Yw 1) ( s Vw 1)
Ydmin Yd _ Ydmazx Ya ™ Vdmin

D =
' Gs Yw Gs Yw Yd Ydmaz — Vdmin
(M gy ()

Ydmin Yamax

&

If emax (VM »& Ay = Dr =0,
]

if emin ( 7M £&%t tf&Xl) = Dr = 1

2.2 ofE[N 1 2]
-89 A7 =2 Uepd

AR, 2, £5AAE A
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3] 4(Liquidity index)
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HI;E\*\Q Kaolinite
v

— =M

pi| mentemarilisnite A=1.25
(YA} g4 vl RAR o] 7AICt)

T (Activity)



